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HR Calculations: Total Compensation: Benefits Costs Per Employee*
It’s important for employees to realize that their base salary isn’t the only compensation they receive from the organization. In fact, total compensation includes all the other benefits the company pays on the employee’s behalf. Some organizations like to remind employees of all the benefits and perks they receive, and other companies use this information as a recruiting tool. 

Demonstrate the value of the employee’s total compensation by providing a total compensation statement, reflecting the costs of benefits as a percentage of the employee’s salary.

The specific benefits costs included in a total compensation statement may vary from company to company and even between employees, depending on their classification. 
*Note: See our HR Calculations: Benefits Roll-up article if you are looking to calculate the organization’s average cost of benefits per employee. This article relates specifically to the benefits costs for an individual employee.
1. Obtain the specific cost of benefits paid for the individual employees.
Benefits costs may include:

· Health insurance

· Dental insurance

· Vision insurance

· Life insurance

· Employer contribution toward retirement

· Workers compensation

· Disability insurance

· Accidental death and dismemberment insurance

· Unemployment insurance

· Stipends and allowances

· Employee assistance program

· Paid leave

· Tuition reimbursement

· Car or phone stipends

· Premiums and bonuses

2. Add up the total annual cost of the employee’s benefits

3. Divide the benefits costs by the employee’s annual salary to identify the employee’s benefits as a percentage of annual salary.
Employee Benefits Cost / Annual Salary = % Benefits Cost Per Employee

For example, if an employee earns $50,000 per year, and the cost of her benefits total $10,000 per year, the calculation would be as follows:

10,000 / 50,000 = 0.2 (20%)

So in this case, the employee’s benefits are equivalent to 20% of her annual salary. 

4. Add the benefits costs to the annual salary to get the total compensation.

In our example, 10,000 + 50,000 = 60,000 

The employee’s total compensation is $60,000. This allows the employee to see that the amount received from the company is actually much greater than indicated by base salary alone. 



These samples are designed with the intent of providing businesses with a general template to use. Please note that general legal information is not the same as legal advice—the application of law to the company’s specific circumstances. These samples are for informational and instructive purposes only and may not be suited to every situation. 





HR Calculations and Measurements





The best and most concise way for the HR department to measure its effectiveness in an organization is through HR calculations and measurements. These numbers provide meaningful data used to improve business management and to better meet the needs of the employees.





LaborLawCenter™ provides an endless array of HR calculations you can use spanning absence rate, compensation, recruitment, training, tenure and more. Some calculations are more important than others depending on your organization’s goals.








